Class: X

Chaitanya Central School
Yenugonda, Mahabubnagar
Mathematics Assignment - 2024-25

I.Solve the following:

1.

10.

11.

12.

13.

14,

15.

16.

Find the LCM of 2.5, 0.5, 0.175.

Find the largest number which divides 615 and 963 leaving remainder 6 in each case.
Prove that 15 + 17+/3 is an irrational number.

If x is an even number, then what is the LCM of 4x, 2x% and x3.

Pis LCM of 2,4,6,8,10; Q is LCM of 1,3,5,7,9 and L is LCM of P and Q. Evaluate L-21P.

If oo and B are zeroes “of the quadratic polynomial 4x?+ 4x +1, then form a quadratic polynomial
whose zeroes are 2a. and 2.

If one root of the quadratic polynomial 2x2-3x + p is 3, find the other root. Also, find the value of p.
Find the zeroes of v3x?+ 10 x + 7v/3.

Find the value of K such that the polynomial x? — (K+6)x + 2 (2K-1) has sum of its zeroes equal to
half of their product.

If the zeroes of x> — px + 6 are in the ratio 2:3, find p.

The internal measures of a cuboidal room are 12m X 8m X 4m. Find the total cost of white washing
all four walls of a room, if the cost of white washing is Rs 5 per m2. What will be the cost of white
washing if the ceiling of the room is also white washed?

Factorise x? — 22x + 120.

Expand (2a -3b)3 using an identity.

Evaluate :%X_—j -1—14 -%X %
Solve for x:
Z?x 1= Z—z +3
Find the LSA, CSA, TSA, volume of the following solid shapes. Write their units.
(a) Cuboid
(b) Cube
(c) Cylinder
(d) Cone
(e) Sphere

(f) Hemisphere



X page no.2

17. Expand the following:
(a) (a+b)?
(b) (a-b)?
(c) (a+b)?
(d) (a-b)?
(e) a®*+b?
(f) a®-bd
(g) (a+b+c)?
(h) a?-b?
(i) (x+a) x+b)
(j) a®+b®+c®—3abc

18. State how many types of congruency rules are there for triangles. Explain each with a figure.

19. Add:

(@) 5m (3-m)and 6m?—-13m
(b) 4y (3y?+5y —7) and 2(y® — 4y? +5)

20. Simplify:
(a+b) (2a—3b+c)—(2a-3b)c.

21. Define:
(a) Acute angle
(b) Obtuse angle
(c) Reflexangle
(d) Right angle
(e) Complete angle
(f) Complementary angles
(g) Supplementary angles
(h) Linear pair
(i) Vertically opposite angles

:: THE END::
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10.

11.
12.

Chaitanya Central School
Yenugonda, Mahabubnagar
Social Science Assignment - 2024-25

What is the need for conservation of Resources? Elucidate in the light of Gandhi’s view.

What does sustainable economic development mean? How can we eradicate irrational
consumption and over utilization of resources?

What are the steps involved in the complex process of resource planning? Why is resource
planning important in the context of a country like India?

Why is powersharing good for democracy? Give any three suitable arguments.

What is a coalition government? Name the states which have coalition governments. What are
the problems faced by those states?

Describe the path of accommodation adopted in Belgium. What were its consequences?

Explain democratic policies adopted by Government of India which made it a successful
federation.

“The creation of linguistic states was the first and major test for democratic politics in our
country.” Justify this statement .

Explain achievements and difficulties of local self government in India.

Why do we use averages? Are there any limitations to their use? lllustrate with your own
example related to development?

Describe conditions or aspects that you would consider before accepting a job.

‘Consequences of environmental degradation do not respect national or state boundaries *
Justify the given statement.

:: THE END::



Chaitanya Central School
Yenugonda, Mahabubnagar
English Assignment - 2024-25
Class: X

I. Rewrite the following sentences into Reported Speech.

He said, “ It may rain tonight.”

He said to me, “ | saw your brother two years ago.”

He said to her, “Had you displeased your brother?”

They said to her, “Whose house are you purchasing?”

She said to me, “Do you play?”

He said to me, “ Help you younger brother.”

Mohan said to me, “Would you like to have a cup of tea with me?”

| said, “l am an early bird.”
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Rajni says, “ I am burning midnight oil.”

10. The teacher said, “Boys fail because they do not study regularly.”
Il. Use correct determiner to complete the blanks:

1. Therewereno ____ than fifty boys in the class. (few, fewer)

2. | Haveread __ books. | had ( a few, the few)

3. people came to see the match. (Many, Much)
4. Thereisn't sugar in the pot. (any, some)
5. There are shady trees on side of the road. (neither, either)

lll. Complete the paragraph using the options given below.
1. Gavri was only eight years old, but (a) mountain of family responsibilities had already (b)

(c) her head.

(a) A, the, an, some (b) descend, descending, descended, descends. (c) over, on, above, in
IV. Read the following comprehension passage and answer the following questions.

The outer solar system is the name of the planets beyond the asteroid belt. These planets are
called gas giants because they are made up of gas and ice.

The first stop of our tour is the fifth planet, Jupiter. Jupiter is bigger than three hundred Earths ! It is
made up of hydrogen and helium and a few other gases. There are violent wing storms that circle around
Jupiter. The most famous storm is called the Great Red Spot. It has been churning for more than four
hundred years already. At last count, Jupiter has sixty-three known moons and a faint ring around it too.

Next in our space neighbourhood comes Saturn. It is well-known for the series of beautiful rings
that circle it. They are made up of tiny bits of frozen dirt and ice. Like Jupiter, Saturn is made up of mostly
hydrogen and helium. It is smaller though, at only ninety-five times the size of Earth. Saturn has sixty-two

moons.
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The seventh planet, Uranus and its twenty-seven moons orbit very far from the sun. In addition to
helium and hydrogen, Uranus atmosphere also contains ammonia ice and methane ice. It is a very cold
planet, with no internal heat source. One of the strangest things about Uranus is that it is tipped over and
orbits the sun on its side at a ninety —degree angle. The twenty-seven moons it has orbit from top to
bottom, instead of left to right like our moon.

The eighth planet is Neptune. Like Uranus, it is made up of hydrogen, helium, ammonia ice and
methane ice. But unlike Uranus, Neptune does have an inner heat source, just like Earth. It radiates twice
as much heat as it receives from the sun. Neptune’s most distinctive quality is its blue colour. Most of the
information we known about it came from the Voyager 2 spacecraft passing close by it in 1989.

Pluto is the last and was considered a planet after its discovery in 1930. In 2006, Pluto was
demoted and reclassified as a dwarf planet. Pluto exists in the Kuiper belt. That’s just a fancy name for the
band of rocks, dust and ice that lies beyond the gas giants. Scientists have found objects bigger than Pluto

in this belt. Thus, the outer solar system has many secrets to explore.

e A T R ¥ Y]

On the basis of your reading of the passage, answer all the following questions.
(i) The two gases which make up most of Jupiter and Saturn are
(a) hydrogen and ammonia (b) hydrogen and methane
(c) hydrogen and helium (d) none of the above
(ii) The Kuiper belt is an area of rocks, dust and ice that
(a) is between Jupiter and Saturn (c) includes Pluto
(b) is beyond Pluto (d) surrounds Saturn’s rings
(iii) What is the Great Red Spot?
(a) one of the violent wind storms that circle around Jupiter
(b) a big red spot on the surface of Jupiter
(c) one of the violent win storms that circle around Saturn
(d) a big red spot on the surface of Uranus
(iv) How small is Saturn as compared to Jupiter?
(a) itis 32% smaller than Jupiter  (c) it is 68% of Jupiter

(b) it is 32% of Jupiter (d) none of the above
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(v) Why the moons of Uranus are peculiar?
(a) they orbit he planet from top to bottom instead of left to right like our moon
(b) they are tipped over
(c) they orbit Uranus at a ninety-degree angle
(d) they orbit the planet from left to right instead of top to bottom
(vi) Why are the planet beyond the asteroid belt called ‘gas giants’? Choose the correct option.
(i)They are made up of gas and ice (ii) They are very large in size than Earth.
(a) only (i) is correct (b) only (ii) is correct (c) both (i) and (ii) are correct (d) none of the above
V. Choose the correct modal verbs to complete the blanks:
1.There __ something wrong with the cooker today.
(a) must be (b) should have been (c) must have been (d) could have been
2. our king live long!
(a) may (b) must (c)should (d) will
3. He went there so thathe __ borrow money.
(a) may (b)can (c) might (d)should
4.  we talk to them?
(a) dare (b) will (c) would (d) can
5.He ____ drink daily.

(a) may (b) usedto (c)will (d)can

:: THE END::
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Chaitanya Central School
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Science Assignment - 2024-25

Biological Science

Note: Draw the following .

1.

2
3
4
5.
6
7
8
9

Cross section of a leaf

Variegated leaf

Open and closed stomatal pore

Human alimentary canal

Human respiratory system

Cross section of human heart

Schematic representation of transport and exchange of oxygen and carbondioxide
Excretory system in human beings.

Structure of a nephron

Physical Science
Prepare a detailed report on type of chemical reactions with examples 10 -20 each.
Prepare a detailed report on natural and man made acids.
Read chapters 1%t and 2" and prepare 10 questions (minimum) from each chapter of your own
and answer those questions.
Draw a labeled diagram of chapters 1t and 2"¢ ; write the result/ conclusion of each set

up/diagram

= THE END::
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